








Cr Rn U f : U ⊂ Rn −→ Rm

f r f

C∞

Rn

Rn X f : X ⊂ Rn −→ Rm

Cr Rn x U x ∈ X Cr

F |X∩U = f |X∩U F : U ⊂ Rn −→ Rm



f f : X ⊂ Rn −→ Y ⊂ Rm

Y X f− : Y −→ X

f



RN k

k RN X RN X

U ϕ : U −→ X ∩V x ∈ X

RN x V Rk

X x X ∩ V

X ∩ V ϕ

X ∩ V ϕ− : X ∩ V −→ U

x , ..., xk k ϕ− (v) = (x (v), ..., xk(v)) ϕ−

X∩V x , ..., xk X∩V

(x , ..., xk)

dimX X k



X × Y Y X

dimX × Y = dimX + dimY

Z ⊂ X RN Z X

X Z

Ṽ ⊂ RN X V ⊂ X

V = X ∩ Ṽ

X X

Rn U f : U ⊂ Rn −→ Rm

A ∈ L(Rn,Rm) Rm Rn x ∈ U f

lim
h→

||f(x+ h)− f(x)− Ah||
||h||

=

f ′(x) = A x ∈ U f A

f ′(x) A



f : U( ) ⊂ Rn −→ Rm

L(Rn,Rm) x ∈ U f ′(x)

A ∈ L(Rn,Rm)

||A|| = sup
||x||≤

||Ax||

f ′ : U −→ L(Rn,Rm)

x 7→ f ′(x)

h ∈ Rn

lim
t→

f(x+ th)− f(x)

t

f ′(x)(h)

x ∈ U f : U( ) ⊂ Rn −→ Rm

h x f h ∈ Rn

dfx(h) = lim
t→

f(x+ th)− f(x)

t

dfx(h)

x ∈ U

dfx : Rn −→ Rm

h 7→ dfx(h)



f ′(x) dfx

f(p) = (f (p), ..., fm(p)) f

Rm Rn f ′(x)

[f ′(x)] =


∂f
∂x

(x) . . . ∂f
∂xn

(x)

∂fm
∂x

(x) . . . ∂fm
∂xn

(x)


dfx dfx = f ′(x) x f

[dfx] = [f ′(x)]

dfx

f : U −→ V V ⊂ Rm U ⊂ Rn

x ∈ U g : V −→ Rl

d(g ◦ f)x = dgf(x) ◦ dfx.

V

U Rl

gf

g◦f

Rm

Rn Rl

dgf(x)dfx

d(g◦f)x



f : U( ) ⊂ Rn −→ Rm

dfx Rn U f dfx = f x ∈ U

Rn Rn x ∈ U

x ∈ X k k X ⊂ RN

x X

X x V ϕ : U( ) ⊂ Rk −→ V ⊂ RN

dϕ : Rk −→ RN U ϕ ϕ( ) = x

Im(dϕ ) dϕ Tx(X) x X

RN Tx(X) dϕ

x X v ∈ Tx(X)

Tx(X)

X ψ : U −→ V ϕ : U −→ V

ψ− (V ∩ V ) ϕ− (V ∩ V ) ψ ϕ x

ψ ϕ

ϕ− (V ∩ V ) = U ∩ Ũ Ũ , Ũ ( ) ⊂ Rk U U

ψ− (V ∩ V ) ϕ− (V ∩ V ) Ũ Ũ U U ψ− (V ∩ V ) = U ∩ Ũ

ψ ϕ Rk

U U V ∩ V

H = ψ− ◦ ϕ : U −→ U ϕ(U ) = ψ(U )



ψ = ϕ ◦ K ϕ = ψ ◦ H K = ϕ− ◦ ψ : U −→ U

K H

Im(dϕ ) ⊂ Im(dψ ) dψ = dϕ ◦dK dϕ = dψ ◦dH

Im(dϕ ) = Im(dψ ) Im(dψ ) ⊂ Im(dϕ )

x Tx(X)

k RN Tx(X)

dimX

dϕ : Rk −→ Tx(X)

Φ̃ : W −→ Rk Φ := ϕ− : V −→ U ϕ

ϕ Φ̃
∣∣∣
V ∩W

= Φ|V ∩W x ∈ W W ( ) ⊂ RN

Ũ ϕ− (V ∩W ) = U ∩ Ũ U ϕ− (V ∩W ) V V ∩W

Rk U Rk

ϕ− (V ∩W ) ⊂ Rk

ϕ− (V ∩W )
ϕ−→ V ∩W Φ̃−→ Rk

ϕ̃ : ϕ− (V ∩W ) −→ V ∩W

p 7→ ϕ(p)

ϕ̃ dϕ̃ = dϕ Φ̃ ◦ ϕ̃ = Id

x = ϕ( ) ∈ V ∩ W Φ̃ ∈ ϕ− (V ∩ W )

dϕ L(Rk,Rk) Id dΦ̃x◦dϕ = Id

Tx(X) = Im(dϕ ) dϕ

dϕ : Rk −→ Tx(X)



k = dimX Tx(X) ⊂ RN

Rk Tx(X)

dimTx(X) = dimRk = k

x Tx(X)

RN

X X ⊂ RN k

x+ Tx(X) ⊂ RN x ∈ X

l k Y ⊂ RM X ⊂ RN

x ∈ X f : X −→ Y



x ∈ X ψ : V ( ) ⊂ Rl −→ Y ϕ : U( ) ⊂ Rk −→ X

dfx x f y = f(x) ∈ Y

dfx := dψ ◦ dh ◦ dϕ −

h = ψ− ◦ f ◦ ϕ

U ψ− f

Ψ◦F ◦ϕ = ψ− ◦f ◦ϕ = h ψ− Ψ f F

h

dh

dfx

ψ ϕ

Tx(X) dfx

Tf(x)(Y )

U V

X Y

h=ψ− ◦f◦ϕ

ϕ ψ

f

⇓

Rk Rl

Tx(X) Tf(x)(Y )

dh

dϕ dψ

dfx



X
f−→ Y

g−→ Z

d(g ◦ f)x = dgf(x) ◦ dfx.

η : W −→ Z ψ : V −→ Y ϕ : U −→ X x ∈ X

z = g(y) ∈ Z y = f(x) ∈ Y x ∈ X

j ◦ h = η− ◦ (g ◦ f) ◦ ϕ j = η− ◦ g ◦ ψ h = ψ− ◦ f ◦ ϕ

U V W

X Y Z

h=ψ− ◦f◦ϕ

ϕ ψ

j=η− ◦g◦ψ

η

f g

⇓

U W

X Z

j◦h

ϕ η

g◦f

G : H −→ K F : I −→ J g f

J ∩ H 6= ∅ F (x) = f(x) = y ∈ J y ∈ H x ∈ I

I F− (J ∩H) F J J ∩H



I ⊂ RN RN

F̃ : F− (J ∩H) −→ J ∩H

p 7→ F (p)

p ∈ X ∩ F− (J ∩H) g ◦ f G ◦ F̃

p ∈ X ∩ F− (J ∩H) ⊂ X ∩ I ⇒ F̃ (p) = F (p) = f(p)

⇒ (G ◦ F̃ )(p) = G(f(p)), f(p) ∈ Y ∩H

⇒ (G ◦ F̃ )(p) = g(f(p)) = (g ◦ f)(p),

F̃ F (G ◦ F̃ )
∣∣∣
X∩F− (J∩H)

= (g ◦ f)|X∩F− (J∩H)

Z X g ◦ f G ◦ F̃

k = j ◦h k := η− ◦ (g ◦ f) ◦ϕ

d(g ◦ f)x = dη ◦ dk ◦ dϕ −

= dη ◦ d(j ◦ h) ◦ dϕ −

= dη ◦ dj ◦ dh ◦ dϕ −

= (dη ◦ dj ◦ dψ − ) ◦ (dψ ◦ dh ◦ dϕ − )

= dgf(x) ◦ dfx

⇒ d(g ◦ f)x = dgf(x) ◦ dfx



x ∈ X Y X

y = f(x) V X x U x f : X −→ Y

f |U f(U) = V Y

x x f

dfx : Tx(X) −→ Tf(x)(Y )

dfx = dψ ◦ dh ◦ dϕ −

h ψ ϕ h = ψ− ◦ f ◦ϕ

Y X k Rk h̃

dh = dh̃ dh̃

dfx



Rn E ⊂ Rn f

y = f(x) f ′(x) = dfx x ∈ E

U f f(U) = V y ∈ V x ∈ U Rn V U

V f g

g(f(p)) = p (p ∈ U),

V g

dfx f : X −→ Y

f x ∈ X

x

dfx = dψ ◦ dh ◦ dϕ −

Rk Rk dh dϕ − dψ dfx

ψ ϕ h

f f(x) x

x f f = ψ ◦ h ◦ ϕ−

dfx

x f

f(x)



f

x ∈ X dfx x

x ∈ X f Y X f

x ∈ X f : X −→ Y

x f

f : R −→ S

f f(t) = (cos t, sin t)

ψ : U −→ Y ϕ : U −→ X dfx

ψ− ◦ f ◦ ϕ = Id Rk f(x) ∈ Y x ∈ X

X Y

U U

f

ϕ

Id

ψ

f(x) x

f f(x , . . . , xk) = (x , . . . , xk)

f ′ : X ′ −→ Y ′ f : X −→ Y

β− ◦ f ◦ α = f ′ β : Y ′ −→ Y α : X ′ −→ X



X Y

X ′ Y ′

f

α

f ′

β

f ′ f

x f dfx

dfx f

f : X −→ Y

dimX ≤ dimY Y X

dfx : Tx(X) −→ Tf(x)(Y ) f

f : X −→ Y Y X

x ∈ X f dimX ≤ dimY

dfx : Tx(X) −→ Tf(x)(Y )

f x ∈ X f

k ≤ l Rl Rk

(a , . . . , ak, , . . . , ) ∈ Rl (a , . . . , ak) ∈ Rk



y = f(x) x f : X −→ Y

f(x , . . . , xk) = (x , . . . , xk, , . . . , ) y x

x f

y x ψ : V −→ Y ϕ : U −→ X

g : U −→ V

X Y

U V

f

ϕ

g

ψ

g ψ( ) = y ϕ( ) = x

dϕ − dψ dfx dfx = dψ ◦ dg ◦ dϕ −

Rl Rk A ′ A dg : Rk −→ Rl

[dg ]A
′

A

l× k El×l

E[dg ]A
′

A =

Ik


Rl E− k× k Ik

B′ A dg B′



[dg ]B
′

A = [Id]B
′

A ′ [dg ]A
′

A [Id]AA = ([Id]A
′

B′ )− [dg ]A
′

A [Id]AA

= (E− )− [dg ]A
′

A I = E[dg ]A
′

A =

Ik


B′ A dg Rl

G G(x, z) = g(x) + ( , z) G : U × Rl−k −→ Rl

Il dG Rl Rl

Rl G

g = G ◦ ( ) G

∈ Rl G ψ

ψ ◦ G

V U y

X Y

U V

f

ϕ ψ◦G

x x f

Y X



Rk −→ Rl

f : X −→ Y

Y

f W x x ∈ X

f(W ) x W f

f(X) k x ∈ X

f(x) ∈ f(X) f(W )

R S

R

R S

g : R −→ S

G : R −→ S × S g(t) = (cos πt, sin πt)

G G G(x, y) = (g(x), g(y))



R R

R G R

G

R



R

Y f : X −→ Y

X

Y X

Y X f : X −→ Y

f(X)

f(W ) f(X) f X W

RM f(X)

∃y ∈ f(W ); ∀B(y, ϵ) ∩ f(X) ⊈ f(W )

⇒ ∃{yn}∞n= ⊂ f(X); ∀n, yn /∈ f(W ), yn → y

K := {y, yn}

f− (K) ⊂ X f K ⊂ Y

xn ∈ X yn f

f− (K) = {x, xn} x ∈ W f(x) = y x ∈ X



z ∈ X {xn} X

yn → y = f(x) ynk
→ f(z) f(xnk

) → f(z) f

z = x f f(z) = f(x)

xi ∈ W i xnk
→ x X W

yn /∈ f(W ) n ∈ N yn yi ∈ f(W ) f(xi) = yi

f(X) f(W ) ⊂ f(X)

f f : X −→ f(X)

f− f− : f(X) −→ X

f X f : X −→ Y

Y K ⊂ Y f

K

X f− (K) ⊂ X f

f K X f− (K)

f : X −→ Y dimX ≥ dimY

dfx : Tx(X) −→ Tf(x)(Y )

dfx x ∈ X f : X −→ Y

X



(a , . . . , ak) 7→ (a , . . . , al) k ≥ l Rl Rk

y = f(x) x ∈ X f : X −→ Y

x f f(x , . . . , xk) = (x , . . . , xl) y x

ψ : V −→ Y ϕ : U −→ X

g : U −→ V y x

X Y

U V

f

ϕ

g

ψ

g ψ( ) = y ϕ( ) = x

Rk dg : Rk −→ Rl

[dg ] =

(
Ik

)
.

G :U −→ Rk

a 7→ (g(a), al+ , . . . , ak)

[dG ] = Ik a = (a , . . . , ak)

G− G



g = ( ) ◦ G U U ′

g ◦G− = ( )

X Y

U ′ V

f

ϕ◦G−

g◦G−

ψ

⇓

X Y

U ′ V

f

ϕ◦G− ψ

x x f

f(x) = y f : X −→ Y Y y

f f− (y) y X

x ∈ f− (y) f

f(x , . . . , xk) = (x , . . . , xl) y x

( , . . . , , xl+ , . . . , xk) f− (y) x ( , . . . , ) y

(x , . . . , xk) x V

x = f− (y) ∩ V

f− (y) ∩ V xk xl+ xl =

f− (y)



y ∈ Y f : X −→ Y

f(x) = y x dfx : Tx(X) −→ Ty(Y ) f

f− (y) f : X −→ Y y

dim f− (y) = dimX − dimY X

f y ∈ Y

y {x : f(x) = y}

y ∈ Y

f(X)

f(X)

x ∈ f− (y) f y dimX ≥ dimY



f dimX = dim Y

f(X) dimX ≤ dimY

f

f(x) = |x| = x + · · ·+xk f : Rk −→ R

dfa : Rk −→ R ( a , . . . , ak) a = (a , . . . , ak) dfa

f f(a) =

k − Sk− = f− ( )

O(n)

Rn n × n M(n) Rn

AAt = I O(n)

A O(n) I A At

n×n S(n) AAt

f : M(n) −→ S(n) k = n(n + )/ Rk M(n)

O(n) = f− (I) f(A) = AAt

A f f I

dfA(B) = lim
s→

f(A+ sB)− f(A)

s

= lim
s→

(A+ sB)(A+ sB)t − AAt

s

= lim
s→

AAt + sBAt + sABt + s BBt − AAt

s

= lim
s→

(BAt + ABt + sBBt)

= BAt + ABt



A dfA : TAM(n) −→ Tf(A)S(n)

f− (I) = O(n)

TAM(n) =M(n) S(n) M(n)

C ∈ S(n) Tf(A)S(n) = S(n)

BAt+ABt = C dfA(B) = C B ∈M(n)

B BAt = C C = C + Ct C

B = CA AAt = I

dfA(B) = ( CA)At + A( CA)t = C(AAt) + (AAt)Ct = C + Ct = C

I A ∈ f− (I) f B

M(n) O(n) f

dimO(n) = dimM(n)− dimS(n) = n − n(n+ )
=
n(n− )

O(n)

O(n)×O(n) −→ O(n)

(A,B) 7→ AB

O(n) −→ O(n)

A 7→ A− = At,



k ≥ l X gl g

Z

g = (g , . . . , gl) : X −→ Rl

X Z = g− ( ) g

gi gi

d(gi)x : Tx(X) −→ R x R X

Tx(X) d(gi)x

Tx(X) d(gl)x d(g )x l dgx : Tx(X) −→ Rl

x gl g l

gi(x) x ∈ X X gl g

Z

dimX − l X

codimZ = dimX − dimZ X Z

X Z

X l

codimZ = dimX − dimZ = dimX − (dimX − l) = l



X Z

f : X −→ Y y

f− (y)

X Z

z W gl g l z ∈ Z

gi Z ∩W X

W Z ∩W

X

f : X −→ Y y ∈ Y Z

x ∈ Z dfx : Tx(X) −→ Ty(Y )

Tx(Z) Z

dfx : Tx(X) −→ Ty(Y ) Tx(Z) dfx Z f

dfx

dimTx(X)− dimTy(Y ) = dimX − dimY = dimZ

Tx(Z)

Tx(Z) = ker(dfx).



f : X −→ Y y f(x) = y

X

Y Z

f− (Z) f(x) ∈ Z

f− (Z)

f− (Z)∩U X U x ∈ f− (Z)

f(x) ∈ Z

Z y = f(x) Z

gl g y

g ◦ f f− (Z) x Y Z l

(gi ◦ f)(x ) = i x ∈ X gl ◦ f

gi f(x ) gi(f(x ))

x ∈ f− (Z) f(x ) ∈ Z Z y f(x )

y (g , . . . , gl) g

g ◦ f : W −→ Rl

g (g ◦ f)− ( )

d(g ◦ f)x = dgy ◦ dfx Z f

Rl dfx dgy d(g ◦f)x : Tx(X) −→ Rl

Ty(Z) dgy : Ty(Y ) −→ Rl g



Ty(Z) Rl Ty(Y ) dgy

x ∈ f− (Z) g ◦ f Ty(Y )

Image(dfx) + Ty(Z) = Ty(Y )

Z ⊂ Y f : X −→ Y

Image(dfx)+Ty(Z) = Ty(Y ) f Z x

f >∩ Z

Z ⊂ Y f : X −→ Y

Y Z X f− (Z) X f− (Z)

l f− (Z)

l l X f− (Z) gl ◦ f g ◦ f

Y Z

Ty(Y ) Z = {y}

dfx(Tx(X)) = Ty(Y ) x ∈ f− (y) y f

f y



f(t) = ( , t) f : R −→ R

g : R −→ R R x Z

Z g(t) = (t, t )

Z ⊂ Y X ⊂ Y i

x i− (Z) x ∈ X

Tx(Y ) Tx(X) dix : Tx(X) −→ Tx(Y ) X ∩Z

Tx(X) + Tx(Z) = Tx(Y ) x ∈ X ∩ Z i>∩ Z



Z X

x Z ⊂ Y X ⊂ Y

X >∩ Z Tx(X) + Tx(Z) = Tx(Y )

Y

codim(X ∩ Z) = codim(X) + codim(Z).

Y Z X

R R

Y Z X

X >∩ Y R Y X

X ∩ Y = ∅





f : X −→ Y

ft : X −→ Y f : X −→ Y

f f R [ , ] I

F (x, ) = f (x) F : X × I −→ Y

f f F f ∼ f F (x, ) = f (x)

Y X

ft(x) = F (x, t) ft : X −→ Y f f



f : X −→ Y

ϵ > f ft : X −→ Y

ft t < ϵ

R R

x

x



X X −→ Y

Y X

Z ⊂ Y

+ <



Z ⊂ Y f : X −→ Y dimX + dimZ < dimY

f Z f

Z

dimX = dimY

(x, t) ∈ X × [ , ϵ) ⊂ X × I ϵ > f ft

X × I X ×{ } X d(ft)x

ϵ X × [ , ϵ]

(x, t) ∈ U d(ft)x X × I U (x , )

Y Rk X



l × k d(f )x Rl

(
∂(f )i
∂xj

(x )

)

X×I ∂(ft)i
∂xj

(x) k×k

k× k

(x , ) (x, t)

t ft f

G(x, t) = (ft(x), t) G : X × I −→ Y × I

xi, yi ∈ X ti →

X G(xi, ti) = G(yi, ti)

G(x , ) = limG(xi, ti) = limG(yi, ti) = G(y , ) yi → y xi → x

x = y f G(y , ) = f (y ) G(x , ) = f (x )

dG(x , )



a

d(f )x

al

. . .


k d(f )x aj

dG(x , ) k + dG(x , )

(x , ) (x , ) G

(yi, ti) (xi, ti) i

G



Sn− Rn

R S × [ , ]

Rk



Rk− Hk Hk

Hk Rk

X k RN X

Hk

∂X X Hk X

Int(X) = X − ∂X X

X X

dimX = N RN

dimX < N

[ , ]× [ , ]

Y X

∂(X × Y ) = X × ∂Y



dim(X × Y ) = dimX + dimY.

U×V ⊂ Rk×Hl = Hk+l V ⊂ Hl U ⊂ Rk

ϕ×ψ : U×V −→ X×Y ψ : V −→ Y ϕ : U −→ X

X × Y

X X × I

u g : U( ) ⊂ Hk −→ Rl

g u ∈ ∂U dgu U

Rk u g̃ g

dg̃u : Rk −→ Rl dgu

g ˜̃g

˜̃g g̃ u Int(U) ui dg̃u = d˜̃gu

ui dg̃ui = d˜̃gui g Int(U)

dg̃u = d˜̃gu ui → u

Rk dgu

Rl

Tx(X) k X ⊂ RN

x x ∈ X



RN k Tx(X)

f : X −→ Y

dfx : Tx(X) −→ Tf(x)(Y ) x

X Int(X) X

X

Rk Int(Hk) Hk

(k − ) ∂X k X

x

x ∈ ∂X

ϕ : U ⊂ Hk −→ V ⊂ X

Rk− ∂U = U ∩ ∂Hk ϕ ϕ(∂U) = ∂V

ϕ(∂U) ⊂ ∂V ∂X x ∂V = ∂X ∩ V

ψ : W ⊂ Hk −→ V ∂V ⊂ ϕ(∂U)

ϕ− ◦ ψ(∂W ) ⊂ ∂U ψ(∂W ) ⊂ ϕ(∂U)

U u = g(w) w ∈ ∂W g = ϕ− ◦ ψ : W −→ U

W g ψ ϕ

d(g− )u U g(W )

Rk u g(W ) u ∈ Int(U)

Rk g−

∂W w Rk w g−

Tx(∂X) x ∈ ∂X

Tx(X)



f ∂f X f

Tx(∂X) dfx x ∂f ∂X

f− (Z) Y Z f : X −→ Y

f ∂f− (Z) = f− (Z) ∩ ∂X

f : H −→ R

(x , x ) 7→ x

Z = { },

f− (Z) = ∂H

Y X f

Z ⊂ Y ∂f : ∂X −→ Y f : X −→ Y

X ∂{f− (Z)} = f− (Z) ∩ ∂X f− (Z)

Y Z



Z Int(X) f

f− (Z) f− (Z) ∩ Int(X)

Z x ∈ f− (Z)∩ ∂X

Rl Y f(x) ϕ

ϕ ◦ f l = codimZ Z = ϕ− ( )

ϕ ◦ f (ϕ ◦ f)− ( ) f− (Z) X x

x h : U ⊂ Hk −→ X

h : U −→ h(U) g = ϕ ◦ f ◦ h

(f ◦ h)− (Z) = g− ( ) x f− (Z)

u = h− (x) ∈ ∂U

dfx(Tx(X)) + Tf(x)(Z) = Tf(x)(Y )

u g ϕ ◦ f x

u g̃ g

g̃ u g̃ dg̃u = dgu Rk

u g̃− ( )

Rk S

S ∩ Hk u g− ( ) = S ∩ Hk

S Rk ∂f

S ∩Hk = {s ∈ S : π(s) ≥ } π : S −→ R π

π(s) = s ∈ S π

π : Rk −→ R s ∈ S ∩ ∂Hk π(s) = dπs =

Ts(S) dπs = dπs = π

Ts(S) ⊂ Ts(∂Hk) = Rk− Ts(S)

Ts(S) dgs = dg̃s : Rk −→ R S = g̃− ( )



Rk− dgs Rk− dgs : Rk −→ R s ∂g

d(∂g)s : Rk− −→ R dgs : Rk −→ R

k − d(∂g)s k − dgs

g

π : S −→ R S

π− ( ) {s ∈ S : π(s) ≥ }

S π >

s s π π(s) = S

π(s) = − |s| S = Rn

{s ∈ Rn : |s| ≤ }

Y X f

∂f : ∂X −→ Y f : X −→ Y Y



S [ , ]

g : X −→ ∂X X

X ∂g : ∂X −→ ∂X

z ∈ ∂X g

{z} X g− (z) X g− (z)

∂g = identity g− (z) dimX − ∂X

∂g− (z) = g− (z) ∩ ∂X = {z},

Bn ⊂ Rn f

f(x) = x x ∈ Bn

g : Bn −→ ∂Bn f

g(x) f(x) x f(x) 6= x

f(x) f(x) x



g(x) = x x ∈ ∂Bn g(x) x

g ∂Bn g : Bn −→ Bn

f(x) x

t ≥ x − f(x) t g(x) − f(x) g(x)

g x t g(x) = tx + ( − t)f(x)

|g(x)| =

t |x− f(x)| + tf(x).[x− f(x)] + |f(x)| − =

t

t ≤

x t



f : X −→ Y

Z ⊂ Y

Z

S s fs : X −→ Y

F : X × S −→ Y

F S F (x, s) = fs(x)

F : X × S −→ Y

∂F F Y Z X

Z ∂fs fs s ∈ S Z

X × S W = F− (Z)

π : X×S −→ S ∂W = W ∩∂(X×S)

s fs >∩ Z π : W −→ S s ∈ S



∂fs >∩ Z ∂π : ∂W −→ S

s ∈ S

F >∩ Z F (x, s) = z fs(x) = z ∈ Z fs >∩ Z

dF(x,s)[T(x,s)(X × S)] + Tz(Z) = Tz(Y ),

b ∈ T(x,s)(X × S) a ∈ Tz(Y )

dF(x,s)(b)− a ∈ Tz(Z).

v ∈ Tx(X)

d(fs)x(v)− a ∈ Tz(Z).

T(x,s)(X × S) = Tx(X)× Ts(S),

b = (w, e) e ∈ Ts(S) w ∈ Tx(X)

fs X ×{s} F e

dF(x,s)(w, ) = (dfs)x(w).

π e

dπ(x,s) : Tx(X)× Ts(S) −→ Ts(S)

Ts(S) T(x,s)(W ) dπ(x,s)

F : W −→ Z T(x,s)(W ) (u, e)



dF(x,s)(u, e) ∈ Tz(Z)

v = w − u ∈ Tx(X)

d(fs)x(v)− a = dF(x,s)[(w, e)− (u, e)]− a = [dF(x,s)(w, e)− a]− dF(x,s)(u, e)

s Tz(Z)

∂fs >∩ Z ∂π

Y

f : X −→ RM RM

RM S

F : X × S −→ RM

(x, s) 7→ f(x) + s

S F x ∈ X

fs(x) = f(x)+s s ∈ S RM Z

s f Z

Y

Y

f : X −→ Y RM

RM X

Y X Y



Y

ϵ RM Y ϵ

Y ϵ RM Y ϵ

Y w ∈ Y ϵ ϵ

π : Y ϵ −→ Y π(w)

Y π : Y ϵ −→ Y Y

Y ϵ Y ϵ

Y ϵ := {w ∈ RM : ∃y ∈ Y, |w − y| < ϵ(y)}

Y f : X −→ Y

F : X × S −→ Y S



x ∈ X F (x, ) = f(x)

S −→ Y

s 7→ F (x, s)

∂F F

Y ⊂ RM RM S

F (x, s) = π[f(x) + ϵ(f(x))s].

Y π : Y ϵ −→ Y

F (x, ) = π[f(x) + ϵ(f(x)) ] = π[f(x)] = f(x) ⇒ F (x, ) = f(x).

x

S −→ Y ϵ

s 7→ f(x) + ϵ(f(x))s

S −→ Y

s 7→ F (x, s)

∂F F π

(∂X) × S X × S {x} × S

T(x,s)(X × S) T(x,s)({x} × S) ∂F F (x, s)



T(x,s)((∂X)× S)

Z f : X −→ Y

f g : X −→ Y Y

g >∩ Z, ∂g >∩ Z.

F

s ∈ S

fs >∩ Z, ∂fs >∩ Z.

f fs

X × I −→ Y

(x, t) 7→ F (x, ts),

ϵ

Y RM Y

T (Y ) RM

Y × RM

T (Y ) := {(y, v) ∈ Y × RM : v ∈ Ty(Y )}.



(y, ) Y Y T (Y )

{(y, v) : } Ty(Y ) Y

y Y y ∈ Y Y ⊂ RM

N(Y ) RM Ty(Y ) Ny(Y )

N(Y ) := {(y, v) ∈ Y × RM : v ∈ Ny(Y )}

Y Y N(Y ) T (Y )

RM

W V W

W⊥ := {v ∈ V : ∀w ∈ W,< v,w >= }.

V W⊥

N(Y )

A : RM −→ Rk

At : Rk −→ RM

∀v ∈ RM , ∀w ∈ Rk, < Av,w >=< v,Atw >

(aij) A

(aji) At



A At Rk A

Atw = w ∈ Rk

v ∈ RM

< Av,w >=< v,Atw >=< v, >=

At w = w ⊥ Rk A w ⊥ A(RM)

Av = v ∈ ker(A)

∀w ∈ Rk, =< ,w >=< Av,w >=< v,Atw >,

Rk At Image(At) ⊂ ker(A)⊥ At(Rk) ⊥ ker(A)

A

rank(A) + nullity(A) = dimRM ⇒ k + dimkerA =M ⇒ dimkerA =M − k,

At(Rk) = Image(At) k kerA⊥

At Image(At) = ker(A)⊥ Image(At) ⊂ ker(A)⊥

M N(Y ) Y ⊂ RM

σ : N(Y ) −→ Y

(y, v) 7→ y

RM Ũ Y Y

N(U) U = Y ∩Ũ = ϕ− ( ) k = dim Y ϕ : Ũ −→ Rk



dϕy : RM −→ Rk y ∈ U N(Y ) N(Y )∩(U×RM)

Rk Ty(Y )

Ny(Y )

ψ : U × Rk −→ N(U)

(y, v) 7→ (y, dϕy
t(w)),

N(U) Y ×RM U×Rk

N(Y ) dimU + k = dimY + codimY = M ψ

σ ◦ ψ : U ×Rk −→ U

σ

ϵ

h : N(Y ) −→ RM

(y, v) 7→ y + v

(y, ) N(Y ) Y × { } h

(y, ) h {y} × Ny(Y ) Y × { } N(Y )

(y, ) {y}×Ny(Y ) Ty(Y ) (y, ) Y ×{ }

Ny(Y )

Ty(Y ) +Ny(Y ) = RM

(y, ) Y Y ×{ } h



RM Y Y × { }

h− : Y ϵ −→ N(Y ) Y ϵ Y

π = σ ◦ h−

X C Z f : X −→ Y

dfxTx(X) + Tf(x)(Z) = Tf(x)(Y )

x ∈ C ∩ f− (Z)

C Y Z

∂f >∩ Z C f >∩ Z f : X −→ Y X

g : X −→ Y f C ∩ ∂X

g >∩ Z, ∂g >∩ Z,

f = g C

γ : X −→ [ , ] X C U

C U

x /∈ f− (Z) x ∈ C f >∩ Z C

f >∩ Z x X − f− (Z) Z



ϕ : W −→ Rk Y f(x) W x ∈ f− (Z)

x′ ϕ◦f x′ ∈ f− (Z∩W )

x x ϕ ◦ f f >∩ Z

U f >∩ Z x ∈ C

τ = γ γ f >∩ Z C

F : X × S −→ Y dτx = τ(x) = dτx = γ(x)dγx

G : X × S −→ Y

(x, s) 7→ F (x, τ(x)s),

(x, s) ∈ G− (Z) G >∩ Z

τ(x) 6=

S −→ Y

r 7→ G(x, r)

G r 7→ F (x, r) r 7→ τ(x)r

dG(x,s) τ(x) = (x, s) G>∩ Z (x, s)

(v, w) ∈ Tx(X)× Ts(S) = Tx(X)× RM

m : X × S −→ X × S

(x, s) 7→ (x, τ(x)s)



dm(x,s)(v, w) = (v, τ(x).w + dτx(v).s)

w, s ∈ RM τ(x), dτx(v) ∈ R

dτx τ(x) G = F ◦m

dG(x,s)(v, w) = (dFm(x,s) ◦ dm(x,s))(v, w) = dF(x, )(v, ).

f X × { } F

dG(x,s)(v, w) = dfx(v).

dG(x,s) dfx x f >∩ Z x ∈ U τ(x) =

∂G>∩ Z (x, s) G>∩ Z

∂g >∩ Z g >∩ Z g(x) = G(x, s) s

C x f g

τ =

g(x) = G(x, s) = F (x, s) = F (x, ) = f(x).

X ∂X

Z ∂f : ∂X −→ Y f : X −→ Y

g >∩ Z ∂g = ∂f g : X −→ Y f



h Z h : ∂X −→ Y

Z X X −→ Y

H : X −→ Y

∂G = ∂H ∂X G >∩ Z X G : X −→ Y H

∂H = H|∂X = h

G
∣∣
∂X

= ∂G = ∂H = h






